=

ELITE SCREENS

Series Name

Product Picture

SableFrame 2

Fixed Frame Screens Comparison

ezFrame 2

ezFrame Plus

=

Home Cinema, Boardrooms,

Home Cinema, Boardrooms,

House of Worship, Hospitality,

Home Cinema, Media Rooms,

Family Reoms, Living Rooms,

Diagonal Size and Aspect Ratio

Applications House of Worship, Media Reoms, | House of Worship, Media Rooms, | Bars & Restaurants, Auditoriums, Farnill ire Rooims Media Rooms, Bar &
Family/Living Rooms Family/Living Rooms Gymansiums ¥ 9 Restaurants, Boardrooms
Recommended Room Size Medium to Large Small to Large Large, X-Large Small to Large Small to Medium
Screen Material CineWhite™ CineWhite™ CineWhite ™ CineWhita™ CineWhite™
16:9 - 92"/1100"106" 110"/ 16:9- 84"/100"106"/110"/120% 4:3- 273300"320" 16:9 - 847921007110/ 16:9 - 1007/110"120"135" 150"/
1207°135" 150" 165" 180" 200” 135" 150" 165" M807200” et ) 12071135"150"180" 1807 2007

16:10 - 109"/114"

2.35:1- 115" 1257/138"/158"

16:10 - 109"/114"125"144"

16:9 - 200250°300"345% 390"

2.35:1 -115"/125"/138"/ 158"166"

2.35:1 - 103"125"/138"/158"

Gain 11 1.1 11 11 11
Viewing Angle 180° 180° 180° 180° 180°
Easy to Clean Screen Material Yes Yes Yes Yes Yes
Seamless ‘Yes Yes Yes Yes Yes
Black backed Yes Yes Yes Yes Yes
Rubber ed.ge ‘d(lalsi?.n for quicker Yes Yes No Yes NA
Other model variants with different materials
Acoustically Tr nt WFA A A N/A AcousticPro UHD
Ambient Light Rejecting NIA A A NIA CineGray 3D
Rear Projection WA N/A A N/A N/A
High Contrast NIA CineGray A /A CineGrey
Ceiling Light Rejecting (CLR) NIA MIA A MIA Starbright CLR®
Design and Installation
Frame Description Aluminum with Black Velet Aluminum with Black Velvet Aluminum with Black Velvet Aluminum with Black Velvet EDGE FREE®

Frame Width 237 237" 35" 35" 10 mm velvet tape trim roll
Flat or Curved Flat Flat Flat Curved Flat
Installation Method Flush Wall Flush Wall Flush Wall Flush Wall Flush Wall
Installation brackets/screws,
sl Serewdrives inchidad Yes Yes Only brackets and screws Yes Yes
Slideable brackets Yes Yes Yes Yes Yes
LED Backlight kit available /A M/A A Yes Yes
Manufacturer Suggested Retail Pricing (U.S. only)
From $375-$1,250 $500-51 500 $1,625-56,250 $875-52,500 $479-$1,615

10/26/2016

www.elitescreens.com




=/

ELITE SCREENS

Ambient Light Rejecting Front Projection Material Comparison

CineGrey 5D®

Screen Material Name

Picture

CineGrey 3D®

Description

The CineGrey 3D¢ is a reference quality front
projection screen material formulated for
environments with minimal control over lighting.
It was designed to enhance piciure brightness,
produce accurate color fidelity, and improve
contrast levels.

The CineGrey 5D¢® is a front projection material
designed to reject ambient light while
maintaining superb picture quality. It's an ideal
fit for rooms that have little or no control over
incidental light and allows projector to reflect
more light towards the viewer.

Available in Screen Series

Sable Frame, Aeon EDGE FREE?®, Designer

ezFrame, Starling Tab-Tension 2, Designer

Cut Cut, Saker Tab-Tension
Projection Type Front Front
Type of material PVC Flexible PVC Flexible

Reflective technology type

Angular-Reflective

Angular-Reflective

Ambient Light Rejecting

Yes (reflects up to 65%)

Yes (reflects up to 75%)

Gain 122
Viewing Angle 80°
Minimum Throw Ratio 1.5 x Image Width 15 x Image Width
Black backing No No
3D Ready Active/Passive Active/Passive
Polarized for Passive 3D Yes Yes
4K/8K Ultra HD Ready Yes Yes
Color Silver/Gray Silver/Gray
Opaque Yes Yes
Maximum Width 1.9M (76")
Bt for sbirorineis Moderate ambient light control rooms and dark
rooms
UItralSh::r:g;?i\.;IErojector No No
Cleaning Method Microfiber Cloth Microfiber Cloth
ISF Certified Yes Yes
GREENGUARD® Certified Yes Yes

Flame Retardant

Yes, Complies with NFPA 701

Yes, Complies with NFPA 701

Rev. 04/13/17

www,elitescreens.com




=/

BET THE BIG PICTURE

Screen Material Name

Product Picture

Acoustically Transparent Front Projection Materials Comparison

AcousticPro1080P3

AcousticPro UHD

oL

CineWhite® ABK

Description

The AcousticPra1080P3 is the
ultimate acoustically sound
trasnparent front projection
material. The tight angular
weave eliminates the moire

effect while presenting warm
neutral colors. The
AcousticPro1080P3 allows
speaker placement behind while
allowing an exceptional
acoustically transparent
performance.

The AcousticPro UHD (ultra-high
definition) is a moiré-free self-
supported acoustically
transparent front projection
screen material. The dense
synthetic weave is compatible
with Ultra-High Definition/4 K
resolutions while mitigating light
penetration for a brighter picture.

The CineWhite® ASK is an ultra-
fine acoustically transpaent front
projeciton material for high-
resolution projectors. It has a
bonded black backing to prevent
light loss while eliminating
backlight spill from the projector.
Itis ISF Certified for accurate
color reproduction in a light
controlled room environment as
the director intended.

The CineGrey 3DE AT is an
ambient and ceiling light
rejecting (ALR/CLRE) projection
screen material that is perforated
to permit acoustic transparency
for use with in-wall speakers. It
is ISF Certified for accurate color
reproduction, contrast and
dynamic range to create a bright,
crisp, and clearimage.

Available in Screen Type/
Series and Diagonal Sizes

Fixed Frame:Sable Frame -
100%1207135"/11507 (16:9)

Electric Wall/Ceiling: Spectrum -
100"/125" (16:9)Saker Tension,
Evanesce, Aeon

Fixed Frame: Aeon -
125"/138"/158" (2.35:1)

Electric Wall/Ceiling Saker Tab-
Tension - 100"110"/120°/135"/
150"/180" (16:9)

Fixed Frame Curved:Lunette -

100"/110"/120"/135"/150"/180"

(16:9)and 115"/125"/138"/158"
(2.35:1)

Electric In-ceiling: Evanesce -

106"/126"140" (16:9)

Designer Cut - 135" (169)

Fixed Frame: Aeon -
1007120"/135"/150" (16:9)

Fixed Frame: Aeon -
103"/123"/135"/150" (16:9)

Fixed Frame: Aeon - 110"/120"
(16:9)

Type of material

White - Acoustically Transparent

White - Acoustically Transparent

White - Acoustically Transparent

Silver Gray - Acoustically

Frame

Transparent
Ambient Light Rejection MNIA NIA NIA B5%
Composition Polyster Fabric Polyester/PVC Polyster Fabric PVC
Gain 1.0 1.0 1.1 1.2
Viewing Angle 180° 180° 180° 90°
Meap Susnision -3.09 at 8k - 20khz 236 at 8k - 20khz N/A -6.04 at 8k - 20khz
(db loss)
Hole Size 0.178mm 0.32mm (Avg) MIA 0.7mm
Black backing Black scrim included SUEESCHTIRIE G - Hihed Bonded black backing Black scrim included

Short/Standard Throw on fixed

Projector type compatibility Ultra/Short/Standard Throw  |frame. Standard throw on electric Ultra/Short/Standard Throw Standard Throw
only.
Minimum Throw Ratio =02 205 =01 =15
3D Ready Active Active Acitve Active and Passive (polarised)

Recommended Environments

Light controlled rooms

Light controlled rooms

Light controlled rooms

Moderate ambient ight rooms

Recommended Applications

In-wall speaker or behind
speaker placement for 1080P
and 4K projectors.

In-wall speaker or behind
speaker placement for 1080P

and 4K projectors.

In-wall speaker or behind
speaker placement for high-
reselution UHD projectors.

In-wall speaker or behind
speaker placement for 1080P

and 4K projectors.

Rev.11112021-]A

www.elitescresns.com

AT comp



Series Name

Product Picture

SableFrame 2

Fixed Frame Screens Comparison

ezFrame 2

ezFrame Plus B

Lunette 2

Applications

Home Cinema, Boardrooms,
House of Worship, Media Reoms,

Home Cinema, Boardrooms,
House of Worship, Media Rooms,

House of Worship, Hospitality,
Bars & Restaurants, Auditoriums,

Home Cinema, Media Rooms,
Family/Living Rooms

Family Reoms, Living Rooms,
Meda Rooms, Bar &

Diagonal Size and Aspect Ratio

Family/Living Rooms Family/Living Rooms Gymansiums Restaurants, Boardrooms
Recommended Room Size Medium to Large Small to Large Large, X-Large Small to Large Small to Medium
Screen Material CineWhite® CineWhite® CineWhite® CineWhite® CineWhite®
11:1:9: 9 "f1?0“!1€§"f1 ]0";‘ ) 16:9- ?4"1‘1?0"! 1{36"1‘1 ]{]"f 1%0":' A:3- 27373007320 16:9 —“84?9" “ﬁi{ﬂ“!‘l 1?":’ 16:9 - 10071 1(1"!12 2!1 35" 1507
1207135" 150" 165" 180" 200 135" 150" 165" M 807 200 12071135" 150" 180 1807 200

16:10 - 109"/114"
16:10 - 109"/114"125" 144" 16:9 - 20072507300 345% 390" |2.35:1 -115"125"138"/ 158"166"|  2.35:1 - 1037125136158
2.35:1- 1157 125/138"/158" i i ?
Gain 11 11 11 11 11
Viewing Angle 180° 180° 180° 180° 180°
Easy to Clean Screen Material Yes Yes Yes Yes Yes
Seamless Yes Yes Yos Yes Yos
Black backed Yes Yes Yas Yes Yes
Rubber ed.ge deslg.n for quicker Yes Yes No Yes NA
installation
Other model variants with different materials
Acoustically Transparent AcousticPro 1030P3 AcousticPro 1080F3 A MAA AcousticPro UHD
Ambient Light Rejecting CineGrey 30® /A A /A CineGrey 3D&
Rear Projection WA WraithVeil MNA MNAA MN/A
High Contrast CineGrey CineGrey A /A CineGrey
Ceiling Light Rejecting (CLR) NIA MIA A MIA Starbright CLR#
Design and Installation
Frame Description Aluminum with Black Velet Aluminum with Black Velvet Aluminum with Black Velvet Aluminum with Black Velvet EDGE FREE®
Frame Width 23 237 35 3.5" 10 mm velvet tape trim roll
Flat or Curved Flat Flat Flat Curved Flat
Installation Method Flush Wall Flush Wall Flush Wall Flush Wall Flush Wall
Installation brackets/screws,
sallok, Screwririver inchidad Yes Yes Only brackets and screws Yes Yes
Slideable brackets Yes Yes Yes Yes Yes
LED Backlight kit available /A M/A A Yes Yes
Manufacturer Suggested Retail Pricing (U.S. only)
From $375-51,250 $500-51 500 $1,625-56,250 $875-52,500 $479-$1,615

8/2/2018-BR

www.elitescreens.com



CeEILING LIGHT REJECTING MATERIAL

=/ StarBright CLR®

The StarBright CLR® is a ceiling light-rejecting front projection material designed specifically for tabletop-mounted
ultra-short-throw projectors to provide a large-screen performance in the close quarters of most residential or even training
environments. It offers a wide viewing angle, neutral color temperature, and enhanced picture contrast in a theater-grade image.

The StarBright CLR® features a multi-layer optical lens structure that absorbs off-axis light from above while providing a clear
image. This allows the picture to be free from washing out the projected image.

% SpaBucn CLR S

Elite Screen Series: Aeon CLR

» StarBright CLR® Ceiling Light Rejecting material )

absorbs up to 95% of overhead lighting y On axis 0° Gain: 0.6
* 100x contrast enhancement over standard matte g STARBrIGHT CLR® ML
» Multi-layer optical structure filters out ambient light for —
superior picture quality

» Ultra wide 180 viewing angle allows viewers to
spread out while maintaining a bright picture

= Active 3D and 4K Ultra HD Ready

* Produces lifelike images with superb color fidelity

» Designed for table-top ultra-short-throw projectors

* Project from within a short distance without
shadowing the picture

» Capable of improving brightness, color, and contrast
under ambient light conditions

» Rigid material with black-backing eliminates light
penetration which allows for excellent reflectivity

« Mildew resistant, screen surface can be cleaned with Viewing Angle HGain
a micro-fiber cloth and water

Gain

IR bbb
D= Al BN O D00 D= bl Bin D Do D= Bin
SOO0CO0000000000D00Co000000

oocec00000

PSR I R R RN, s BN~ S R SR S T S R B B BT PR

Elite Seroen: Inc | Elite Scroensz Ply lid. - Australia | Elife Seroenz China Corp. | Elife Screen: Europe GMBH | Hite Scroenz India Phv Lid | Elite Screenz Japan Corp. | Hite Sereonz Taiwan Lid. | Advaning




j— | AEON CLR° SERIES

e i CEILING LIGHT REJECTING EDGE FREE® SCREEN
ELITE SCREENS

| Bl
FE 90-mm FZ8 Macro G DSS” F5.6 1/50. (SO108 IR Shetwith OLT o

Undoctored image of actual projector presentation

The Aeon CLR® is an EDGE FREE CLR® fixed frame screen that uses Elite’s innovative StarBright CLR® (Ceiling Light Rejecting) material. lts
serriform optical surface lens microstructure negates the washout effect of ambient light especially from overhead sources. This also enables the
material to provide contrast levels that are 100 times greater than that of standard matte white projection screens.

StarBright CLR® is specifically designed for ultra-short-throw projectors to provide a large-screen performance in the close guarters of
most residential or even training environments. AEON CLR® with StarBright CLR® offers a wide viewing angle, neutral color tempera-
ture, and enhanced picture contrast in a theater-grade image.

EDGE FREE CLR® means there is an intemal framework with wraparound material bordered with an ultra-thin bezel. The screen uses
a Ceiling Light Rejection technology. An LED back-lighting Kit is included for added aesthetics.

Screen Material Design & Installation

« StarBright CLR® Ceiling Light Rejecting material absorbs upto  » Sleek EDGE FREE CLR® Fixed Frame
95% of overhead lighting * Project from within a short distance without shadowing the
» 100x contrast enhancement over standard matte white screens picture
» Multi-layer optical structure filters out ambient light for superior  « Designed for table-top ultra-short-throw projectors
picture quality + Lightweight aluminum split-frame design
« Ultra wide viewing angle allows viewers to spread out while » Wraparound design maximizes viewing area and reduces
maintaining uniform picture quality overall footprint
* Active 3D, 4K Ultra HD, and High Dynamic Range (HDR) Ready -+ Ultra-thin black bezel trim

» Produces lifelike images with superb color fidelity » LED Backlight kit included
* Black-backing eliminates light penetration




ELITE SCREENS

Aeon CLR® Series

Product Brochure

i

PRSI R SRS

|
'r‘

Member



The Aeon CLR® is an EDGE FREE CLR® fixed frame screen that uses Elite Screens innovative

® - StarBright CLR® (Celling Light Rejectng®) material. lls semiform optical suface lens
e 0 n e rI es microstruciure negates the washout effect of ambient light especially from overhead sources.

Screen Material

StarBright CLR® Ceiling Light Rejecting® material absorbs up to 95% of
overhead lighting

» 100x contrast enhancement over standard matte white screens

» Multi-layer optical structure filters out ambient light for superior picture quality

= Ultra wide viewing angle allows viewers to spread out while maintaining uniform
picture quality

4K/8K Ultra HD and HDR Ready

Produces lifelike images with superb color fidelity

Black-backing eliminates light penetration

Available in the following diagonal sizes: 103" and 123" in 16:9 format

Design & Installation

Sleek EDGE FREE CLR® Fixed Frame

Lightweight aluminum split-frame design

* Wraparound design maximizes viewing area and reduces overall footprint

« Ultra-thin black bezel trim

* Project from within a short distance without shadowing the picture

* Designed for table-top ultra-short-throw projectors

LED Backlight kit included

« 2-Year / 3-Year ENR-G Manufacturer's Warranty by Elite Screens, an 1503001
manufacturer since 2004

Updated 10/3/2017 www.elitescreens.com

www.elitescreens.eu



Aeon CLR® Series Dimensions Table

Unit: mm
Model Niimber Nominal Diagonal Overall Viewable Overall Height Viewable Beze| Width Frame Depth
(Aspect Ratio) Length (A) Width (A1) (B) Height (B1) (C) ({2)]
AR100H-CLR 100"(16:9) 2235 2214 1270 1245 12 25
AR120H-CLR 120" (16:9) 2664 2640 1502 1478 12 25
AR90OH-CLR 90"(16:9) 2016 1992 1145 1121 12 25
Unit: inch
Model Niimbar Nominal Diagonal  Overall Viewable Overall Height Viewable Bezel Width  Frame Depth
(Aspect Ratio) Length (A) Width (A1) (=] Height (B1) (C) (D)
AR100H-CLR 100"(16:9) 88.0 87.2 50.0 49.0 0.5 1.0
AR120H-CLR 120"(16:9) 104.9 103.9 59.1 58.2 0.5 1.0
AR90H-CLR 90"(16:9) 79.4 78.4 451 441 0.5 1.0

Note: Data Error be £1"

The listed measurements are for general reference only. Please contact Elite Screens to verify product design and dimensions
before attempting to integrate its products with any structural or furniture modification. Although a manufacturer may offer
product advice, it may be taken or disregarded at the integrator’s discretion. Elite Screens will not be held responsible or be

otherwise liable for faulty installations.

www elitescreens.com
www.elitescreens.eu

Updated 10/3/2017



=/

GET THE BIG PICTURE

Screen Material Name

Product Picture

AcousticPro1080P3

J‘,‘
F

Acoustically Transparent Front Projection Materials Comparison

AcousticPro UHD

Description

The AcousticPro1080P3 is

the ultimate acoustically sound

trasnparent front projection
material.

The tight angular weave
eliminates the moire effect while
presenting warm neutral colors.
The AcousticPro1080P3 allows
speaker placement behind while
allowing an exceptional
acoustically transparent

performance.

definition) is a moiré-free self-
supported acoustically
transparent front projection
screen material.

The dense synthetic weave is
compatible with Ultra-High
Definition/4K resolutions while
mitigating light penetration for a

brighter picture.

The AcousticPro UHD (ultra-high } CineGrey 3D® AT is an ambient

and ceiling light rejecting
(ALR/CLR®) projection screen
material that is perforated to
permit acoustic transparency for
use with inwall speakers. It is
ISF Certified for accurate color
reproduction, contrast

and dynamic range to create a
bright, crisp, and clear image.

Available in Screen Type/
Series and Diagonal Sizes

Fixed Frame: Sable Frame -
100",110",120",135",150",165",1
80" (16:9)

|
85",115",125",138",158",166",17
6" (2.35:1)

Fixed Frame Curved: Lunette -
100",110",120",135"/150" (16:9) |
96",103",115" (2.35:1)

Electric Wall/Ceiling:
Saker Tab- Tension -
100",110",120",135", 150" (16:9)

Fixed Frame: Aeon - 100",120",
135",150",165",180" (16:9)

Fixed Frame: Aeon —
110", 125", 135%,150" (16:9)

Type of material

White - Acoustically Transparent

White - Acoustically Transparent

Silver Gray - Acoustically
Transparent/Ambient Light

Rejecting
Ambient Light Rejection N/A N/A 65%
Composition Polyster Fabric Polyester/PVC PVvVC
Gain 1.0 1.0 1.2
Viewing Angle 180° 180° 90°
Mean Attenuation

(db loss)

-3.09 at 8k - 20khz

-2.36 at 8k - 20khz

-6.04 at 8k - 20khz

Hole Size

0.178mm

0.32mm (Avg)

0.7mm

Black backing

Black scrim included

Black scrim included - Fixed
Frame

Black scrim included

Short/Standard Throw on fixed

Projector type compatibility Short/Standard Throw frame. Standard throw on electric Standard Throw
only.
Minimum Throw Ratio >0.2 > 0.5 Short for Fixed Frame |_2 >15
1.3 standard throw for Electric
3D Ready Active Active Active and Passive (polarised)
Recommended Environments Light controlled rooms

Light controlled rooms

Moderate ambient light rooms

Recommended Applications

In-wall speaker or behind
speaker placement for 1080P

3/18/2022

In-wall speaker or behind
speaker placement for 1080P

and 4K projectors.

speaker placement for 1080P

and 4K projectors.

In-wall speaker or behind

and 4K projectors.

www.elitescreens.com

AT comp



Ay )

ELITE SCREENS

Aeon AcousticPro UHD Series

EDGE FREE® Fixed Frame Sound Transparent Projection Screen

User’s Guide

Product Description: The Aeon AcousticPro UHD Series is a fixed frame projection screen that uses Elite’s EDGE
FREE® technology. The EDGE FREE® design resembles a giant size flat panel TV display. The Aeon includes
Edge trim as an installation option to further enhance the frame appearance and absorb projector overshoot. An
optional LED backlighting kit is available for added visual appearance.

For more information on the LED Kit please visit: http://www.elitescreens.com/led

Hardware and Parts List]

Please make sure all parts listed below are included before installation.

A. Elbow joint x 4 pcs B. Top/Bottom horizontal fame x4 pcs  C. Left/Right vertical frame x 2 pcs
D. Center joints x 2 pcs E. Center Support bar x 1-2 pcs F. Wall brackets x2-3 pcs
c 0 o C
G. M5x50 screws and anchor x 6 pcs H. M5x15 screw X 24 pcs I. Black Tape x 1 bag
|
e LU W 1 L
R |
J. Edge trim x6 pcs K. Plastic corner sleeve x 4 pcs L. Hook

A 7 D

M. Fiberglass rod x 6 pcs &

Plastic sleeve x 12 pcs

Rev.041717-DR www.elitescreens.com 1



http://www.elitescreens.com/
http://www.elitescreens.com/
http://www.elitescreens.com/led
http://www.elitescreens.com/led

Frame Assembl
1. Insert the center joint into one of the ¥ horizontal frames (B) and fasten it with the two M5x15 screws (H).
2. Insert the other ¥ horizontal frame piece to the center joint and fasten also using two M5x15 screws.
3. Repeat steps 1 and 2 for assembling the second horizontal frame.

Push Push
— —
2 & T o | i_Q_Q %:% i [ (a3« .
’ Center Joints |
Top right Frame Top left Frame

Horizontal frame

4. Insert the elbow joint (A) into each end of the horizontal frames (B) as shown below.

-

Elbow Joint (A) Horizontal long frame (B) Elbow Joint (A) T
/T-» L GEETER=—

R - - = : ,/ \
7U S L‘ ( S \
\ //“
5. Insert the two vertical short frames (C) into the elbow joint (A). AN Lo -
- 1
Horizontal long frame (B)
push push

Vertical short frame (C)

Vertical short frame (C)

|

Rev.041717-DR www.elitescreens.com 2



http://www.elitescreens.com/
http://www.elitescreens.com/
http://www.elitescreens.com/
http://www.elitescreens.com/
http://www.elitescreens.com/

6. Join the remaining horizontal long frame (B) with the frame built in the previous steps as shown below.

push . push
Horizontal Long frame (B)

7. Make sure all four corners are properly in place to form a perfect square. Then fasten the four angles with
the M5x15 Screws (H). I

® \

Four corners join correctly to form a perfect 4
square. Use the included screwdriver to — |
fasten the M5x15 screws (H) into each /

corner by aligning the frame screw holes to /
the holes in the elbow joint (A). ~ -

- |

o

Screen Material Installation

1. Lay the screen material completely flat with the front facing down on a clean surface in a horizontal position.
The back side of the screen material should be placed upwards.
Note: The back side of the material has the velcro borders all around the edges.

2. Carefully and gently place the assembled frame on top of the screen material as shown below. Make sure to not
allow the angle edge of the frame to come in direct contact with the screen material to avoid puncturing it.

Rev.041717-DR www.elitescreens.com 3



http://www.elitescreens.com/
http://www.elitescreens.com/

Screen material back facing up

! Screen material comer Velcro

3. After all of the corners of the frame have been properly aligned, attach the material to the frame in the following
order A—~B—C—D (see instructions below for details).

A , D

c A

Attach the screen material to the corners as shown below.

1) Stretch the screen 2) Fold over and attach ~ 3) Fold over second side 4) Repeat until all four
material in the direction material to the velcro and attach to frame sides are done in the
of the arrowhead. strip of the frame. orderA,B,C,D

4. After all four corners have been attached; please check whether the frame corners are wrapped by the screen
material. If not, please loosen the velcro connection and repeat the above steps so the frame is not exposed.

Rev.041717-DR www.elitescreens.com 4



http://www.elitescreens.com/

Note:
Represents the

screen material

Note: The black shaded part represents the velcro on the frame. That Velcro
end will ultimately attach with the other velcro end on the screen material.

5. Proceed to attach the rest of the material to the frame as described in the illustrations below.

Grasp the middle of the screen material and
attach it to the velcro strip on the frame

1

Lay the Velcro end on the screen
material over the Velcro end of the
frame and keep it within the edge.

Proceed in the following sequence

below D>

‘ | l & The key is to attach within the
Al Wi middle sections of 1 and 2. Then
| — T—— —— —— continue attaching the remaining

@ ................ ® ........................ @ ............... ............. unattached areas.

2“4 | ﬂ O§§ Repe'at' the same s_teps 9n the
% — m — i\ remaining three sides in the
? i \E\\ sequence A, B, C, and D as shown
. //////////////// ) below.

Rev.041717-DR www.elitescreens.com 5



http://www.elitescreens.com/

A

7  DALLMMEUETEE N BN HEEEEHH T R
%\\N P SRR \\
N_© 9 [0 == o 9 N §\§

Attach in the folloyving sequence: a-b-c-d

Screen Material Removal

Follow the steps to properly remove the screen material from the frame. This procedure will ensure prolonging the

life of the screen material.

1. Detach the velcro from the frame.

2. Gently pull back the material to release the material from the velcro connections on the corners.

Pull back the screen material from
the velcro connection along the
edges of the frame to detach it.

Support bar installation (for models under 135”)
1. Position the center support bar (E) in the middle of the frame and align the hole on each end of the support
bar with the M6 hex screws on the top and bottom frames. Then fasten with the M6x12 screws.

Support bar /

Move the M6 hex screw to the middle area of the frames.

Rev.041717-DR

www.elitescreens.com



http://www.elitescreens.com/

Align the M6 screws
with the two holes.

/

Support bar installation (for models 135” and above)

1. Position the center support bar (E) to the area of the frame shown in figure 1. Align the hole on each end of
the support bar with the M6 hex screws on the top and bottom frames. Then fasten with the M6x12 screws.

[l s ey
/ Move the M6 hex screw to these areas of the frame.
Center Support Bar
Figure 1
— -

Align the M6 Screws
with the two holes
'}~ located on the Center
Support Bar.

| | @
|

Black Backing Installation

1. Lay the Black backing completely flat with the opening side facing down on the white (AcousticPro UHD)
material in a horizontal position under the center support bar.

Rev.041717-DR www.elitescreens.com 7



http://www.elitescreens.com/

Opening

2. Put the plastic sleeves on the fiberglass rods.

—> | R e—]

4

3. Insert the fiberglass rods (M) through the openings. The longer rods are used on the vertical edges of the screen
material, and the shorter rods are used on the horizontal edges, as shown below.

/ > ¥ y
PN
Mhﬁ\f\ﬂf\hﬁ% i

| TRV VAV LN
ST O T T TS I T

AN AN AT AN AN ATV AV AN AV EYAYAN
AT AN AN AN AN AN AN AT AV AN A
v PNV FRAYaY

PN AV AN AV AN AN VAN Y AN AN AN YA
T, v M;"\HOF\N

TN N T P T TR L%
O T O T PV D,

Do PRI AT T T T
PV AN AV ANV

FANAYAT A AV A KAV Vi KAV AV VA AV AV LTAN
ALV i R
FAVAYAY AN YAV VAV AN Y AN AW AV AV

4. Hook installation
1) Follow steps (),1(),2(0,30n Fig. 1 to properly affix the hook to the frame as shown in Fig. 2.

2) Affix the hooks on the red arrow marks (Fig. 3).

Rev.041717-DR www.elitescreens.com 8



http://www.elitescreens.com/

Fehle:
Fig.1
@ @ Fehlel
(B ) ] 4
N @
\ @ Feh
Fig.3 Arrow marks W
o ¥ Fig.2

- L )
FH—H I | | I |

Example of properly affixed hook to frame.

NOTE: Make sure the hooks are affixed correctly
as they are not easy to remove from the black mesh
backing once they have been affixed.

5. Black backing material attachment into the hooks.

Grasp the Fiberglass rod inside the black backing,
SR and press it into the hooks’ groove. This is the

1]

—nx

/ B proper method to assure the black backing has
Black mesh backing

sufficient tension.

[ Fiberalass rods ]

C A
First, stretch the four corners of
the black backing and insert into
the first two hooks on each

e e T T T T
DO OO N corner in the following sequence
e e T T o T e T W A N b W T WA P T AT AT AT AT TN
WIVV%AMHIV&IU\ANX\ e e T T o T b T e o A_>B_>C_>D
D

Rev.041717-DR www.elitescreens.com



http://www.elitescreens.com/

ab)

T R AT AR E AT AT AT YT TR Next, stretch the black backing
Vvv\g%vmmmuwv:wvw and affix to the hooks from the
R A ] middle in the following sequence
a—b—c—d

F A A AT

R N Yl W T Y T Tl Tl Tl T T Tl Tl

- R ]
i
G
o
o
o
o
)
o
]
o
o
)
1]
)
E
]
5
o
1]

Lastly, affix the black backing to
uuuuuuuuu e K NP the remaining hooks. Add more

YT T YA YA AT AT AT AT AT AT N F WA AT A AT AT A VAT A AT i
TR A A A AT AN AT A VAR AR ATATAW L ATATAVLY) A A A A A ATAT AT ATA" hooks as needed to achieve flatter

results in the areas that are not flat.

v

Edge trim Installation

The Aeon fixed screen is EDGE FREE®, but you may install the Edge trim to provide it with an elegant thin bezel
finish.

Edge trim x 6 pcs Plastic corner sleeve x4pcs Black tape x1bag

A 7

1. Place the assembled frame on a flat and clean surface. The projection screen surface should be facing up.
a. As an option, Black Tape is supplied to cover any possible gaps between the pieces of the bezel trim.
Align the tape with the edge of the screen, as shown in Figure 1. Once properly aligned, apply the black
tape to the center of the top and bottom of the screen material.

/

The black tape ™~ Front of screen

N\

1 The black tape
Figure 1

2. Without removing the adhesive tape, place all the trim pieces along the edge of screen material. Adjust the trim
so that the top and bottom trim pieces are touching and show no gaps in the center. (Note: The Elite logo should
be positioned on the bottom right). Refer to Figure 2 below for a visual reference.

Rev.041717-DR www.elitescreens.com 10



http://www.elitescreens.com/

White area

ianifi Front Side TP
signifies Align the trim starting
corner gap.

from the center to reduce
gapping. Any gaps left at

Figure 2 Trim the corners will be
strip Back Side covered by the corner
sleeves.

NOTE: Make sure the bottom edge trim with the Elite Screens logo is installed on the correct side. The back of
the material should be labeled with a DOWN sticker to indicate the material is facing in the down position. The
Elite Screens logo should be installed on the DOWN side

3. After properly aligning all trim pieces, carefully remove trim piece A (see Figure 3 below). Remove the inside
backing of the tape and place the trim piece in its original position on the frame. Repeat this step for the
remaining trim pieces in the following order:

B-C-D-E-F. The front side of the frame with trim pieces attached.

N

Corner gap
will be

covered by

Figure 3

the corner
sleeve (K).

4. After the bezel trim has been installed, place a corner sleeve (K) on all four corners. Begin by aligning and
adjusting the corner sleeve through the front of the screen. Make sure the corner sleeve completely wraps the
edge of the bezel trim. This should cover any corner gaps.

N g

L
T\

L )

White area
signifies
corner gap. Back side
1 1
J L Front side
” ™~

Once all corner sleeves have been snapped into each corner of the frame, it is ready to be installed.

Rev.041717-DR www.elitescreens.com 11



http://www.elitescreens.com/

Attention: Installing the edge trim will reduce the viewing size of your screen. See below illustrations for a
comparison of the viewing size of the before and after edge trim installation using the 100” & 120” 16:9 diagonal
models.

100” comparison:

-
-
=

Sy
.

D
2o

-

Before installing the edge trim

120” comparison:

Before installing the edge trim After installing the edge trim

Installation

Locate your desired installation location with a stud finder (recommended) and mark the drill-hole area of where the
screen is to be installed.
1. Drill a hole with the proper bit size according to the wood screws included.
2. Line up the wall brackets with the drilled holes on the installation location and screw them in using a
Phillips screwdriver.
3. Position the frame screen onto the wall brackets (F) as shown in below.
4. The design of the wall brackets allows the frame to slide over them through its sides. This is an important
feature of the installation design as it allows your screen to be properly centered.

ﬂ

B P p— |
OO PR |
ﬁ_ T
' T | I
- - I TT
2 o ——
L)
P - @F
fwrg /

For a local Elite Screens contact or Technical Support, please visit

www.elitescreens.com

Rev.041717-DR www.elitescreens.com 12



http://www.elitescreens.com/
http://www.elitescreens.com/
http://www.elitescreens.com/

ELITE SLORFREENS

AeonSeries
EDGE FREE Ambient Light Rejecting Fixed Frame Screen

USER'’S GUIDE

Version 2 (Spring type)
TheAeon Seriess a fixed frame projection screen that uses EBlIEDGE FREE® technology. The EDGE
FREE® design resembles a giant size flat panel isplaly. TheAeonincludes a bezel trim to further
enhance the frame appearance and absorb projeei@hoot.

The screen material included is oGrneGrey 5D ambient light rejecting material, which is a front
projection material precisely formulated for enwingents with minimal control over room lighting.was
designed to enhance picture brightness, offer ateutolor fidelity, and improve contrast levels.eTh
CineGrey 5D is best for family rooms, educational facilitiesnéerence rooms or any applications in which
incident light is a factor.

In order for theCineGrey 5D to maintain its projection qualities and optimunmfpemance, please refer to
the list below for proper maintenance and cleaning.

e Use a dry microfiber cloth to remove dust from skeeen’s surface.

* When cleaning, use a damp microfiber cloth withrwarater to remove any marks.

* Never rub or apply pressure when cleaning the serfa

« Never attempt to use any solutions, chemicals msiie cleaners on the screen surface.

» In order to avoid damaging the screen, avoid towghidirectly with your fingers,
pens/pencilsor any other sharp or abrasive objects.

1. Frame and Edge TrimParts List
Qty 2 pes Qty 2 pcs
by Main Frame Parts ey Edge Trim Parts
Part vertical frame Part AN
A. w{{ = D. N
Part % horizontal frame Part \
B. | v E. /
Part Y% horizontal frame Part \ 4
C. =5 F. L

V071116-ESA www.elitescreens.com U-00017 1




J

e. f. g.

J

R

Item Parts List 84H 100H 110H 120H 135H 150H 103C 125C 138C 158C
a. Center Joints (1) 4 4 4 4 4 4 4 4 4 4
b. Elbow Joints (2) 8 8 8 8 8 8 8 8 8 8
C. M4x6 Screws 60 60 60 60 60 60 60 60 60 60
d. Spring Hook 2 2 2 2 2 2 2 2 2 2
e. Spring 72 92 96 104 116 | 128 88 104 116 | 134
f. Top wall brackets 2 2 2 2 2 2 2 2 2 2
g. ®5x50 Wall Screws 6 6 6 6 6 6 6 6 6 6
h. Hollow Wall anchors 6 6 6 6 6 6 6 6 6 6
i. Bottom wall brackets| 2 2 2 2 2 2 2 2 2 2
- Angle cover 4 4 4 4 4 4 4 4 4 4
k. M4x7 Screws 8 8 8 8 8 8 8 8 8 8
l. Center Support Bar 1 1 1 1 1 1 1 1 1 1
m. White gloves 2 2 2 2 2 2 2 2 2 2

V071116-ESA www.elitescreens.com U-00017

I




Frame Assembly
Step 1 Place thesoft padded EPE sponge on clean artee @mound where the screen will be assembled.

Step 2:Position the pieces of the frame on the EPE spontie arrangement shown below

C B
% %’
A A
EPE Sponge EPE Sponge o

= | C t\gw

Step 3 Remove the tape on all frame ends before assegtble frame.

¥ ¥ )

Step 4:Insert thecenter joint (&) connectors int@ne-half of the horizontal frame (b/c) and secure with the

M4x6 screws (c).

Step 5:Insert thesprings (e) into the grooves of the frame. The spring’s hodi@aud be facing the front
side of the frame. For the correct amount of sgitagplace into the frame, please refer to theethdied

below.
Spring * Qty A

NS w
(@] Z Hl O

=
= =
i1} ije]
Q | Q
< | <
oy Spring * Qty A @

Note: The springs are pre-installed into the groov of the frame.

Screen Size 84H 100H | 110H | 120H | 135H | 150H | 103C | 125C | 138C | 158C

i A 23 29 31 33 37 41 31 37 41 47
Spring
Qty

B 13 17 17 19 21 23 13 15 17 20

V071116-ESA www.elitescreens.com U-00017 3




Step 6:Connect thelbow joints (b) to the top and bottom sections of the vertical #a@nce inserted,
connect the vertical sections of the horizontainkeasections. Make sure all holes are in alignmedtthe

frame pieces are flush (no gaps). They should feenfect right angles.

Screen Material
Step 8:Put on thewhite gloves (m) and carefully unroll the screen material oneac surface from the
roller to the other side as shown below. The béb af the screen material should be placed upwards

N
S

ey
SRR Y

Step 9Carefully and gently place the assembled frameprof the screen material. Make sure to not allow
the angle edge of the frame to come in direct abntith the screen material to avoid puncturing it.

V071116-ESA www.elitescreens.com U-00017 4




Step 10:With one end of the spring and secure inside thewgr of the frame, use tispring hook (d) to
attach the spring to the hole located on the sameerial’s outer edge in the following order.

Attach the four corners first (1). After those aeeure, connect the vertical portions of the maltdoegin in
the center and move towards the corners (2). Lastlynect the horizontal sections of the matenal b
connecting the center of the material and make wayrtowards the corners (3).

Note (after all springs have been attached):

Correct material installation —Corners of the screen material are properly wrdgpeund the corner
edges of the frame and material is evenly tensiamedflat, creating a nicely taut surface.

Incorrect material installation —Thecorners of the screen material are not propadpped along the edge
of the frame leaving the material with unbalanaatston and an uneven finish. To correct, detadngpr
from material at the corner(s) where material dustdie flat along the edge of the frame, repogitioe
material so that it lies flat and wraps along tdgeeof the frame, and reattach springs to the maater

Note:Please make note of the yellow label and sprirtgercenter of the frame. This is an indicator &otst
the screen material installation process from tiddha area of the frame.

fa

[ -

/

/ & /;é/ Yellow spring
\

ellow labe

To avoid ripples forming in the material it isimperative that all of the corners are properly wrapped around the
edges asillustrated in the check mark diagrams.

Center Support Bar

Step 11:Insert theCenter Support Bar (i) into the upper top groove on the back of the frawitk the
bottom end near the approximate center point ofrdrae and rotate it in at an angle so that botts ef
the bar are in alignment with the groove.

V071116-ESA www.elitescreens.com U-00017 5




Diagonal Models 150” and below use 1 x Center Supdd3ar

Diagonal Models above 150" require 2 x Center SuppbBars

5 7
T ‘ y T
J

1

I
E

30cm

30cm
T

Attention: Do not proceed with the Edge Trim installation until making sure there
areno ripplesin the material.

Edge Trim Installation
Step 12 Place thdé=dge Trim over each end of the frame and secure Milx6screws (c).
Start with the center points first, then the rddhe corners as shown below.

Step 13 Install theangle cover (j) on each corner of the frame and install the M4x@ws to hold down
the angle cover.

V071116-ESA www.elitescreens.com




Notice to Installer:
Please use the following installation instruction$o obtain superior optical performance from
the CineGrey 5D Angular Reflective ALR(Ambient Light Rejectingicreen.

Make sure to follow these instructions in order forthe CineGrey 5D to perform correctly.

*Angular-Reflective material is not compatible withra/short-throw projectors
*Minimum lens throw ratio 1.5x image width

*Ambient light must not come from the same diretts the projector

Since angular-reflective means that the projected image will reflect at the mirror-
opposite angle, it isimportant to position the projector so that the viewer will get the best
possible image.

Step 1: Establish the general “eye level” of the viewers
Step 2: Set the appropriate projection level

Step 3: Adjust the screen height level and projection angle
Input Angle(A) = Output Angle (B) aligns with the viewer’'s ande

Correct Installation Examples

Projector Ceiling Installation; Make sure the Projector Table Top; Make sure the projector (fight in) is angled (A) 10
projector (fight fm) s angled (A) to reflect (B) at the marror- reflect (BY ot the mirror-opposite angle (i ont) to align with the
oppisite angle (fghs oudl 1o align with the viewer's eye level. viewer's eve leviel

AMBENT (OFF-AXIS) LIGHT SOURCE AMBIENT {OFF-AXEE) LIGHT SOURCE

| f
| L v
wot ___—" =
EEFLECTED pﬂw‘-\:nll LMIHT

; AN \

AMEENT (DFF-AXIE) LIGHT 3OURACE AMEBIENT {OFF-AXES] LIGHT SOURCE
T y

/

o REFLECTER PRELES TR Lo
o

V071116-ESA www.elitescreens.com U-00017 7




Wall Installation
Step 14:Measure the overall length and height of the frame drill holes for the top brackets. Line up the

wall brackets with the drilled holes on the ingtitin location and screw them in using a Phillips
screwdriver. If not installing into a structural @estud, use a hollow wall anchor then screw inviiBe50

wood screws with a screwdriver. Make sure the letchre leveled.

@E\
'1 -
.
. -
-
-
-

" =
I e

~—X_ p

'
[
|
|

-

- - - = d -

L

Step 15 Position the fixed frame screen onto the top Wwedckets as shown below and push down at the

center of the top of the frame tosecure.

e T @

|
| Wall

Waﬁ

Wall

Step 16:With the frame slightly tilted outward; connect thattom brackets onto the bottom groove of the

frame. Then secure them by screwing onto the wall

For Technical Support or an Elite Screens contact in your area, visit

www.elitescreens.com

www.elitescreens.com U-00017 8

V071116-ESA




ELITE SCREENS

Aeon Series

EDGE FREE® Fixed Frame Projection Screen
User’s Guide

Applies to all available screen materials: ﬁ CineGrey 3D® EDGE FREE® and CineWhite® EDGE FREE®

Product Description: The Aeon Series is a fixed frame projection screen that uses Elite’s EDGE FREE® technology.
The EDGE FREE® design resembles a giant size flat panel TV display. The Aeon includes an ultra-thin trim as an
installation option to further enhance the frame appearance and absorb projector overshoot. An optional LED
backlighting kit is available for added visual appearance.

Hardware and Parts List]

Please make sure all parts listed below are included before installation.

A. Elbow joint x4 pcs

B. Top/Bottom horizontal
fame x4 pcs

C. Left/Right vertical
frame x2 pcs

D. Center joints x2 pcs

R ooi

e

E. Center Support bar x1-3 pcs

F. Wall brackets x2-3 pcs

G. M5x15 screw x24 pcs

H. M5x50 screws and
anchor x6 pcs

(135”-150”x2pcs;
180”-200” x3pcs)

()

\

A

I. Rubber hammer x1 pc

J. Screwdriver x1 pc

K. Black Tape x1 bag

L. Bezel trim x6 pcs

/ [ //)l

M. Corner Support Bar
(1807-200”) x4 pcs

=

Rev.04/17/2017 DR

www.elitescreens.com



http://www.elitescreens.com/
http://www.elitescreens.com/

Frame Assembl
1. Insert the center joint into one of the ¥ horizontal frames (B) and fasten it with the two M5x15 screws (G).
2. Insert the other ¥ horizontal frame piece to the center joint and fasten also using two M5x15 screws.
3. Repeat steps 1 and 2 for assembling the second horizontal frame.

Push Push
— -—

1
(oRe) o S

' — i—‘D—ﬂDio—C'—‘ i o= c O | ;

Center Joints
Top right Frame Top left Frame

Horizontal frame

4. Insert the elbow joint (A) into each end of the horizontal frames (B) as shown below.

Elbow Joint (A) Horizontal long frame (B) Elbow Joint (A)// \

5. Insert the two vertical short frames (C) into the elbow joint (A).

Horizontal long frame (B)

push
I <+— \krtical short frame (C) —

|

Rev.04/17/2017 DR www.elitescreens.com 2

m
o
c
w
=



http://www.elitescreens.com/
http://www.elitescreens.com/
http://www.elitescreens.com/
http://www.elitescreens.com/
http://www.elitescreens.com/

6. Join the remaining horizontal long frame (B) with the frame built in the previous steps as shown below.

push push

Horizontal Long frame (B)

7. Make sure all four corners are properly in place to form a perfect square. Then fasten the four angles with the
M5x15 Screws (G). J—

\ / B \\

Four corners join correctly to form a perfect ‘ 14
square. Use the included screwdriver (J) to “‘
fasten the M5x15 screws (G) into each /

corner by aligning the frame screw holes to /

the holes in the elbow joint (A). ~_ -
/v \ﬁ

Rev.04/17/2017 DR www.elitescreens.com



http://www.elitescreens.com/
http://www.elitescreens.com/

Screen Material Installation

1. Lay the screen material completely flat with the front facing down on a clean surface in a horizontal position. The
back side of the screen material should be placed upwards.
Note: The back side of the material has the velcro borders all around the edges.

2. Carefully and gently place the assembled frame on top the screen material as shown below. Make sure to not allow
the angle edge of the frame to come in direct contact with the screen material to avoid puncturing it.

-~

Screen material comer

Screen material back facing up

3. After all of the corners of the frame have been properly aligned, attach the material to the frame in the following
order A—B—C—D (see instructions below for details).

C : A

()] —
0w )) “\ 4

B

Rev.04/17/2017 DR www.elitescreens.com 4



http://www.elitescreens.com/

Attach the screen material to the corners as shown below.

|

=

1) Stretch the screen 2) Fold over and attach 3) Fold over second side 4) Repeat until all four
material in the direction material to the velcro and attach to frame sides are done in the
of the arrowhead. strip of the frame. orderA,B,C,D

4. After all four corners have been attached; please check whether the frame corners are wrapped by the screen
material. If not, please loosen the velcro connection and repeat the above steps so the frame is not exposed.

P~

NN, A

Note: ’
Represents the *

screen material

:.‘ “ 7 ” 53 N .
¥ & - ’ ” AN

\
Note: The black shaded part represents the velcro on the frame. That Velcro

end will ultimately attach with the other velcro end on the screen material.

5. Proceed to attach the rest of the material to the frame as described in the illustrations below.

Grasp the middle of the screen
material and attach it to the velcro

strip on the frame

Lay the Velcro end on the screen
material over the Velcro end of the
frame and keep it within the edge.

Proceed in the following sequence

Rev.04/17/2017 DR www.elitescreens.com 5



http://www.elitescreens.com/

| The key is to attach within the

| !; { middle sections of 1 and 2. Then
s N . . -

J continue attaching the remaining

Repeat the same steps on
remaining three sides in the

| ) sequence A, B, C, and then D as
bbbl show below.
B
Z I NN NS NI
AN N0 N
/ o ) o ) S
/ A i
.
7l In Attach in the followipg sequence: a-b-c-d ul &
C > ‘
Il D
7 N
7 N
,/ o o
/ N
4/ o 0
/// =] ] ({3 [S) 5] \
07 7 D % %
000 7 % 047 %
A

6. If the material is too loose or tight after adjusting all four corner sides, then you will need to reattach the material.
Please follow the steps below to properly remove the screen material from the frame. This procedure will ensure
prolonging the life of the screen material.

Screen Material Removal
1. Detach the velcro from the frame.
2. Gently pull back the material to release it from the velcro connections on the corners

ol H Pull back the screen material from
the velcro connection along the
edges of the frame to detach it.

BN

T

Rev.04/17/2017 DR www.elitescreens.com 6



http://www.elitescreens.com/

Support bar installation (for models under 135”)

1. Position the center support bar (E) in the middle of the frame and align the hole on each end of the support bar
with the M6 hex screws on the top and bottom frames. Then fasten with the M6x12 screws.

—/

Move the M6 hex screw to the middle area of the frames.

\

Center Support bar

N

Align the M6 screws
with the two holes.

/

Support bar installation (for models 135”- 150"
1. Position the center support bar (E) and M6 hex screws in the areas of the frame shown in fig 1. (Each about one
thirds the way in from the end of the frame.) Align the hole on each end of the support bar with the M6 hex screws

located at the top and bottom frame

sections. Then fasten with the M6x12 i =
SCrews. /

/ Move the M6 hex screw to these areas of the frame.

Center Support Bar \

Rev.04/17/2017 DR www.elitescreens.com 7



http://www.elitescreens.com/

™~ Align the M6 Screws with
the two holes located on

Figure 1 P the Center Support Bar.

2. Position the center support bar (E) and M6 hex screws in the areas of the frame shown in fig 1. Align the hole on
each end of the support bar with the M6 hex screws located at the top and bottom frame sections. Then fasten with
the M6x12 screws.

/ Move the M6 hex screw to these areas of the frame.
Center Support Bar

/N
e
] | Align the M6 Screws with
the two holes located on
Figure 1

/.- the Center Support Bar.

1. Position the Corner support bars (M) and M6 Hex screws in the areas of the frame as shown below in fig
2. Align the holes on each end of the corner support bars with the M6 hex screws located on the vertical
and horizontal frame sections. Then fasten with the M6x12 screws.

Rev.04/17/2017 DR www.elitescreens.com 8



http://www.elitescreens.com/

AN

Corner Support Bar

S AW

Figure 2

Align the M6 \
R

screws with 1
the two holes
on the Corner
Support Bars.

Notice to Installer:

Please use the following installation instructions to obtain superior optical performance from the CineGrey 3D®
Angular Reflective ALR (Ambient Light Rejecting) Screen.

Make sure to follow these instructions in order for the CineGrey 3D® to perform correctly.

*Angular-Reflective material is not compatible with ultra/short-throw projectors
*Minimum lens throw ratio 1.5x image width

*Ambient light must not come from the same direction as the projector

Since angular-reflective means that the projected image will reflect at the mirror-opposite angle, it
is important to position the projector so that the viewer will get the best possible image.

Step 1: Establish the general “eye level” of the viewers
Step 2: Set the appropriate projection level

Step 3: Adjust the screen height level and projection angle
Input Angle (A) = Output Angle (B) aligns with the viewer’s angle

Rev.04/17/2017 DR www.elitescreens.com 9



http://www.elitescreens.com/

Correct Installation Examples

AMBIENT (OFF-AXS) LIGHT SOURCE AMBIENT (OFF-AXIS) LIGHT SOURCE

Projector Ceiling Installation: Make sure the Projector Table Top: Make sure the projector (/ight in) is angled (A) to
projector (light in) is angled (A) to reflect (B) at the mirror- reflect (B) at the mirror-opposite angle (/ight out) to align with the
opposite angle (Zight out) to align with the viewer’s eye level. viewer’s eye level.

Incorrect Installation Examples

PROJECTOR CEILING INSTALLATION PROJECTOR TABLE TOP INSTALLATION

Ceiling Mounted Short-throw Projector Tabletop Ultra-Short throw Projector

PROVECTED LGHT

'REFLECTED PROVECTED LIGHT

Images are not up to scale and are for illustration purposes only.

CLOSE UP CEILING PROJECTOR ILLUSTRATION (NOT COMPATIBLE) ULTRA SHORT THROW PROJECTOR ILLUSTRATION (NOT COMPATIBLE)

Note: Improper installation will result in light loss and produce a dark image. This is due to the projector’s light reflecting in the wrong direction.

Edge trim Installation

Included is an ultra-thin black edge trim that provides an elegant bezel finish

Edge trim x 6 PCS

/ [ //‘I

Plastic corner sleeve x4pcs

Black tape x1pcs

1. Place the assembled frame on a flat and clean surface. The projection screen surface should be facing up.
a. Asan option, Black Tape is supplied to cover any possible gaps between the pieces of the bezel trim. Align
the tape with the edge of the screen, as shown in Figure 1. Once properly aligned, apply the black tape to

the center of the top and bottom of the screen material.

/

The black tape
N

\ Screen Material

||
Figure 1

The black tape

Rev.04/17/2017 DR www.elitescreens.com

10



http://www.elitescreens.com/

2. Without removing the adhesive tape, place all the trim pieces along the edge of screen material. Adjust the trim so
that the top and bottom trim pieces are touching and show no gaps in the center. (Note: The Elite logo should be
positioned on the bottom right). Refer to Figure 2 below for a visual reference.

o White area Front Side TIP:

signifies Align the trim starting
corner gap. from the center to reduce
gapping. Any gaps left at

i the corners will be
Trim )
Fi 9 strip covered by the corner
Igure Back Side sleeves.

NOTE: Make sure the bottom edge trim with the Elite Screens logo is installed on the correct side. The back of the
material should be labeled with a DOWN sticker to indicate the material is facing in the down position. The Elite
Screens logo should be installed on the DOWN side

3. After properly aligning all trim pieces, carefully remove trim piece A (see Figure 3 below). Remove the inside
backing of the tape and place the trim piece in its original position on the frame. Repeat this step for the remaining
trim pieces in the following order: B-C-D-E-F.

The front side of the frame with trim pieces attached.

Corner gap
will be

Figure 3

covered by
the corner
sleeve (N).

4. After the bezel trim has been installed, place a corner sleeve (N) on all four corners. Begin by aligning and
adjusting the corner sleeve through the front of the screen. Make sure the corner sleeve completely wraps the edge
of the bezel trim. This should cover any corner gaps.

\ ﬁ »
[ -]
White area
signifies
corner gap. Back side

[V
[_‘

Front side

7 ~

Once all corner sleeves have been snapped into each corner of the frame, it is ready to be installed.

Rev.04/17/2017 DR www.elitescreens.com 11



http://www.elitescreens.com/

Diagonal Size Note:
The Diagonal Size of the 100” &120” models before and after installing the edge trim strip.
101” comparison

e

2

e ™

_ Before installina the trim strin After installing the trim strip
120 comparison

Before installing the trim strip After installing the trim strip

Installation

Locate your desired installation location with a stud finder (recommended) and mark the drill-hole area of where the
screen is to be installed.
1. Drill a hole with the proper bit size according to the wood screws included.
2. Line up the wall brackets with the drilled holes on the installation location and screw them in using a Phillips
screwdriver.
3. Position the frame screen onto the wall brackets (F) as shown in below.
4. The design of the wall brackets allows the frame to slide over them through its sides. This is an important
feature of the installation design as it allows your screen to be properly centered.

For a local Elite Screens contact or Technical Support, please visit

www.elitescreens.com

Rev.04/17/2017 DR www.elitescreens.com 12



http://www.elitescreens.com/
http://www.elitescreens.com/
http://www.elitescreens.com/

5- ~ @Z Aeon CineGrey 4D AT Series

Ceiling Ambient Light Rejecting Acoustically
GET THE BIG PICTURE Transparent EDGE FREE® Fixed Frame Screen

USER’S GUIDE
E Type-V1

Product Description: The Aeon Series is a fixed frame projection screen that uses Elite’s EDGE FREE®
technology. The EDGE FREE® design resembles a giant size flat panel TV display. The Aeon includes a bezel trim
to further enhance the frame appearance and absorb projector overshoot. An optional LED kit is available for

back-lighting.

Congratulations on your new Aeon CineGrey 4D AT purchase! The ISF Certified CineGrey 4D AT is an ambient
and ceiling light rejecting (ALR/CLR®) front projection screen material that is perforated for acoustic
transparency. It is precisely formulated for environments with minimal control over room lighting. It was
designed to enhance picture brightness, offer accurate color fidelity, improve contrast and allow sound to pass

through.

In order for the CineGrey 4D AT material to maintain its projection qualities and provide optimum performance

please refer to the list below for proper maintenance and cleaning.

The following precautions should always be followed to avoid damaging the material, which is not covered
under warranty.

¢ Use a dry microfiber cloth or a soft bristle brush to remove dust from the screen’s surface.

¢ When cleaning, use a damp microfiber cloth with warm water to remove any marks.

¢ Never rub or apply pressure when cleaning the surface.

¢ Never attempt to use any chemicals such as acetone, benzene, alcohol, organic solvents or abrasive cleaners
to clean the screen surface.

* To avoid damaging the screen, avoid touching it directly with your fingers, pens/pencils or any other sharp or

abrasive objects.

Visit www.elitescreens.com/aeoncg4d-at-assembly or

Scan QR code for our how to assemble video

Rev.042222DT (DS0189) www.elitescreens.com 1



http://www.elitescreens.com/

[Exploded View of Aeon Frame j

Make sure all parts are included before commencing frame assembly.

Hardware and Parts List

(D) Edge Trim A

(2) Frame A

(3) Wall Bracket

(4) Anchor

(5) Wood Screws

(6) Long Center Joints a

Rev.042222DT (DS0189)

(7) Long Center Joints b
Short Center Joints
(9) M4x4 Screws

M5x6 Screws

(1D Edge Trim B

(12) Frame B

3) Elbow Joints a
Elbow Joints b
(5 Elbow Joints C
Corner Cover
17) Frame C

Edge Trim C

www.elitescreens.com

Support bar
Spring a

(21) Spring b

(22) Fiberglass rod

(23) Screen material

Black backing cloth



http://www.elitescreens.com/

SCREEN INSTALLATION

[1. Frame Assembly ]

(2) Frame A o @2 frame B

17) Frame C 17) Frame C

I

@ frame B (2) Frame A

W

Step 1: Insert the long center joints (a) into each half
horizontal frame (A/B) and secure with the screws. These
will be the top/bottom frames.

Step 2: Insert the elbow joints into frame (C) and insert
the other end of the elbow joints to the top/bottom frames
and secure with the screws.

[2. Center Support Bar Installation ]

/1.

M5x6 Screws

? A

(7) Long Center Joints b l

Center Connection

(&) Long Center Joints a

-
(2.
Elbow Joints b
F
7 _;::'ﬂ—} M5x6 Screws
@) Elbow
Joints a —)
Corner connection

o

1.Loosen the screw on the
support bar (the connecting
piece can slide).

2.Adjust the connector to
align its hole position with
the border hole position.

3.Fix with (9) M4X4 screws.

Note: the support bar is mounted in the upper and lower border
splicing direction as shown on the right

Rev.042222DT (DS0189) www.elitescreens.com

M4x4
Screws

Support
bar



http://www.elitescreens.com/

[3. Black Backing Cloth Installation J

Dimension table of black backing cloth

Fabric width

2410 mm

2742 mm

2964 mm

3296 mm

Fabric height

1345 mm

1532 mm

1656 mm

1843 mm

Screen size

1107

125”

135»

150”

1. Put the black backing cloth on the sheet, then put the frame on the black backing cloth. (Velcro part face up)

TR
foatetetetatetetatotetetotetetetotetetetatetes
foleteteleteletoleteleteteletetetotetete o te%s

R30S0 IRILEIRRLLRIIRES

R R R LR RLL LR

e

KA I

KKK,

500
58
XX
<

X2
ool
2%
25

5
%

¥
%

255
XXX
255

<RRRRAS
SRR
05
%

o
<
5%

K
200

%
<

RRRRS
SR
SR

Iogegels

A

< XSS SIS

0. 0.0.9.0.9.0.0.9.9.9.9.9.0.9.9.9
(L0 S0 00 0 0 00 0. <K
e

20RRRRR

0

R

(X

000000000000000000
2020762202502 26762 0% 20 %626 %0 e %%

444444444444444444444444444
2RISR LKL
%

o™
A
bo%e,

e
Poeee;
Pogess
3
>,
3o
oS
X
XX
%
%
%

(X

KRR
."0’ '.. X
.‘.‘. .’." .
25
&

o
&
35
o

%
et
%
KX
250
255
SRR
%
%
X
%
&
et
&S
%
ot
%
%
%
X
ot
et
&
oS
&%
%
&%
%
%
%
%
%
&

<
X
&%
&%
5
&%
QR
R
o

o

R0

ot
25
3K

K0
K

K
2

SRR
ogetere,
255
pererers

Q
(O
2
K2

o
K2

&
3R
%

o
2

%
&
&
5%
&
&
&
&%
&%
%
&
o
%
o
25
&
2
&
&%
&%
&S
%
&
S
!

o

K2
5

0.0 2

<
X5
&%
&
&
09,
%

XD
K2
K2
X2
000

2
K

(X
S

K2

&%
55
&%
%
&%
&
&%
()
%
>
%
%
o,
%
>,
&%
&
o,
&
K
5
&

%
255
35

%
X
0
3

55

X5
K
o
2
0.0

XD
%
X
%
o
%
o,
R
)
%

:
2

ot
o
K2
o
o
o

>
0
X
X2
2
o

7
bt
O
2

Q
e

55

55

%

7
o
o
2
K
o
2
.0

<
25
&
ot
&%
&%
&%
&
&%
&
&%
%
&%
&
%
%
&%
&
&%
&
&
&
&
&
o,
&
%
&
&
o,
&
&%
&
&
&%
&
&K
&
&%
&
&
C
&%
o,
&%
o
X
&%
&%
&
&
&
&
'0
fos

K2
0.0

K2

%
SRR
O

e
2

>
(o 0000.

50

Q

&
%
%
¢
&
%
%
&
5
%
255
XX
X5

(XK
.

%
%
3
&
%
X
%
&
RS
&%
&
&
&%
3
(O
&
55

2
Pele’e!

2
o

K2

bo¥s

o
o
KD

22
.0
2
2

QR
XXX
K
252585
QR
fblb
o
2355
oot
o,
&
&

o
XXX

2

KR

K s
SR
12070 00 %0 %0 %0 ve %0 e e Yo 25
o200 %% %% NQO et e %%
SRR
6% %%
K R0055525505
’“’0‘0‘0‘0’0’0’0’0’0

%
&%
X
XX
%

&%
K
0o
XX
2R
355
2

7
.
X

>
X
oy
2
oS
&
&
%
&
&%

KK

X%

(X
0’0 o

.
0%
of’

(o
>

‘0

(O

R
:’
5
X
2
o
R
55
&

s
‘0

XX
RXS
%
oPote%
Q0
%!

<
X
%5
RS

o,
QIR
SSRIRHRRRS
JRHRRHAXRIRHS
SRR
JS0RRRRRIRARHS
SRRRRHIRKN
mWMWmdfixmﬁW%4%&ﬁ¢¢§??w\.
R RS
RN
W st atesates
ot
:ﬂoo
% 000,
QLS
SRR

<
&
%
3
ot
R
XX
oS
%
%
%
&
%

255
&%

255
XXX

(O
%
%

X

K2

3
o,
5
%
%
X

&3
%
&

25
120!
3
3
35
X

%7
%
S
oS
X
%
X
XS
XS
X
&
o0y
&
20!
&
X
X5
5

K2

K
2
2
'
Q
K2

0,
R

—
XS
R
.
%
.’

X
KK
S
2%
.... s
....

K2
2
K

0

s
%%
K2
X2

&
2
2 ‘:
%

KD
K2

o
K

K2

bo %

5%

s
0%
o,
...
&5
()
3K

0

(R

XXX
2505
XK
>
%
%
&
&
&

2

K2
2
0
K2
%
X

X2

&
o3,
QXS
s
o,
o,
205
oge,
o,
30
...
3%
%

5

KL

D
K>
K2
o
o
2
KD

Yo e
25
X2
2
o
2

RS

5

3%

x>

XK

5
R

o,
&%
&%

%
&
&
&
%
&
>
&
&
)
)
&
&
>
)
(O
&
&
&
&
0,

Q
(XS
toe.

2
S
2
&
&

|
]

0

s

SRS
KRR
otee:
25
58
25
508
2505
50
2
%
RS
SRR
XK
90908
XS
RS
QR
SRR
3RS
90008
2R
QKRS
KX
25
..‘
...
otele!
ot
oy
2555
2%
Potee!

o
K
'0

-
SRR
.’

X
XX
5
3
5%
%
%5
%
%5
oS
&
N
&
&%
%
%
%
%
%
%
%
%
&
%
&
%
&%
%
%
%
o
o
%
2
K
%
&
&%
%
.,
%
%
&
s
%
%
%
%
&%
%
%
059
R

2
:.

.
s

e
X
&
&
o,
RRIRIR

%

X

&
250

<
XS

oS
5%

e
D

2
ot
o
3%
3
5%
&
.
s
%
%
%
o
o
oS
o
oS
2
&
%
(o
%
o
..
..
00
.’
K2
oS
K2
oS
‘.
X
0.0
%
oS
25
5%
X

bbbbbbbbbbbbbbbbbbbbbbbbbbb

Black backing cloth

2. Stick the four corners of the black backing cloth to the Velcro on the frame according to 1 -2—3—4 in

sequence (Fold back black backing cloth to the back of the frame), the black backing cloth and the Velcro sticked

together, then press with hands to make it more compact.

(Please noticed that the four sides of the black backing cloth can't go beyond the range of Velcro.)

N .

SN
SRKKA

P P

I

st

L.

0000,
KRS RS
RSCRRRIRRHIIELRRRHHKIRRRAKS

.

7

P}

{

SRS

¢

-
&S
S
q&
BKX
SRR
Ya%e%

X
5%
555

o
0
o

o

25
S5

&
4

-

5
%!
X
55
S

o

e SRFFEFE :

K
.0
XX
ev%?

(0

mmmﬁﬁﬁmMMMMMMMMﬂﬂﬂﬂWLW¢
000&0&#&&4’0000 0066

&
XX,

o
&

T s
*

T K KKK KK K

o T TSR

T

Y o
et

or
!

KD

22

{2

o
rat

L

o

K

2L

L

o
ral

X2

L

o
o

(D

o
!

TR

i e et e ettt e B Tt sttt e et it e e
X }

www.elitescreens.com

Rev.042222DT (DS0189)



http://www.elitescreens.com/

Rev.042222DT (DS0189)

www.elitescreens.com



http://www.elitescreens.com/

3. Do the same way for middle side of the frame, stick the middle of the black backing cloth to the Velcro on the
frame according to 5—6—7—8 in sequence, the black backing cloth and the Velcro sticked together, then press
with hands to make it more compact, and finished the installation of black backing cloth.

(Please noticed that the four sides of the black backing cloth can't go beyond the range of Velcro.)

R e e e e e e e e e e e T s e g e e e e e e e e e e e e e e

N *

e |
SRS
RS
RS
RS
RS

%
<
QR
%
Q
KR
@
(X
X

B
3RS
3K
K
SRS
038
XS
&5
038
”
9%
0%

e
KRR
5
5
%

%

&
*

S

X
5
XS
5
<>
bo%
9%
950
%0,
@

%
SRR
&S
K3
5
5
KX
S

::
::
<

S
g

%
KRS
RS
GRS
0%
o3
%
&5
939
o,
%

X
&
.0

5
o2
0%
35
0%
ot

2
o225
55
RS
RS

Q
<

XS
RHRLRK
KRS
LS
"
&

Q
<

<

PN NN NN NN NN NN

SRRHIRLRKS KRR
QRRIIRHIRHIRRIKK

v‘v’v’v’v’v.v’vi" g
RXXRXR

7

e

S
RR

K
K5

IS

SRKS

>
K

S
RR
0;0

X
KR8
0. 9. 9.9,

X

&S
RR

o0
RRERS
SRRIRLRK
K
000
X

5
0%

o
IR

X

LW, L. ..

X

02020 otesete | I
edelelode! Rele20 202020 020 % N
06%6%%6%" 96%6%6%6%%%6%%%6%%% %% i

AN

= El
(1|
| 5..:

i
i
i
i
|

[4. Screen Material Installation ]

Rev.042222DT (DS0189)

ATTENTION: Put the gloves on when handling the screen material to avoid touching it with your bare hands.

% Unrolling the screen material
Two people recommended

1.

Put on the supplied pair of white gloves.
This is to avoid leaving oily handprints on
the screen surface which are not
removable.

. Remove the screen material from the tube
and place a small suitable weighted object
at the end of the material.

. Lay the material face down, two people
carefully lift the rolled end and slowly
rotate the material clockwise.

. Insert the corresponding fiberglass rods on
thru the sleeves on the edges of the
material.

Back side of screen material

: Weighted object
m

(IE%%%?

Note: Backside facing up
(frontside facing down)

Front side of screen

www.elitescreens.com

(Figure 2)

Back side of screen

\t__Y

Clean surface area (Figure 3)



http://www.elitescreens.com/

@ Fiberglass rod al=a2 =35mm

T ‘_al

a2

[ 2

|

Backside of screen

Note: Please install the six fiber rods into the frame
. ‘

1. Carefully and gently place the assembled
frame on top of the screen material.

DO NOT allow the angle edge of the frame to
come in direct contact with the material to
avoid puncturing it.

2. Adjust the distance between the edge of the Backside of screen Backside of screen
frame and the material (al = a2) to 1.47/35
mm

3. Begin by simultaneously attaching three springs
in the center of the side frames (C—D) and repeat
for top/bottom frames (A—B).

4. Then, simultaneously attach the springs from
the center to all corners. (Leaving only the four
corners.

Backside of screen

5. Finally, attach the springs at the four corners
(E->F—-G—H).

Spring Attachment Method

First hook one end of the spring in the
frame slot, then hold the screen around > 2% Screen material
the frame to pull, and finally use the Z &, —

spring hook to pull the spring hook in the _

screen hole. 23) Screen material
Spring hook Method

@ Spring a

Spring hook

Rev.042222DT (DS0189) www.elitescreens.com 7



http://www.elitescreens.com/

E. Bezel Trim Frame Assembly/lnstallatioa /—’“I\-\

1. Connect Edge Trims A&B to F - - + 2 I
form the top/bottom trims with S (5) Short Center
the (8) Short Center joints, - - Joints
and then insert them on the
top/bottom frames.

2. Connect the side edge trims

C with the top/bottom edge «, (15 Elbow Joints C
trim with @5 Elbow Joints C. P —_—)
3. Adjust the trim so that the top
ﬂ

and bottom trim pieces are touching and show no gaps
on the corners. Then fasten them with the (9) M4 x 4 screws.
4. Attach a @ spring b on the middle of each edge trim (1-6) to the frame
as shown in the illustration.
5.Insall the (16) corner covers on the four corners of the edge trim.

(21) Spring b

Edge Trim

N &/ Note: Lock front side first g,
then back side /

Rev.042222DT (DS0189) www.elitescreens.com 8



http://www.elitescreens.com/

[6. Product Dimensions]

A Total Width

_ Border Thickness

B Viewable Width

\
o
o
—‘
o<
Qiﬂ)
|5
0| o
@ | @
= T
@,
oQ
>
[
vy Y

{

} Bezel Width = 10mm (.39”)

Note: The listed measurements are for general reference only.

28.2mm

=l - |

Screen size

A

B

C

D

110"

96.7” / 2456 mm

95.9” /2436 mm

54.77 /1391 mm

53.97 /1371 mm

125"

109.7” /2788 mm

108.9” /2768 mm

62.17 /1578 mm

61.37 /1558 mm

135"

118.5” /3010 mm

117.7” /2990 mm

67.0” /1702 mm

66.2” /1682 mm

150"

131.5” /3342 mm

130.7” /3322 mm

74.3” / 1889 mm

73.5” /1869 mm

*Tolerance may be £1”

[7.Wa|l installation

)

Drill a hole on the wall according to the distance on the chart below distance for your screen. Place the bracket on

the holes and secure them using a Phillips screwdriver. If not installing into a structural wood stud, use a wall
anchor, then screw in the M5x50 screws. Make sure the brackets are leveled.

(5) Wood screws

Rev.042222DT (DS0189)

(@) Anchor

(3) Top Bracket

(3) Bottom Bracket

www.elitescreens.com

\

\
—_—) IL
—_ @ a P —

\/

— X

/



http://www.elitescreens.com/

Screen size

110"

125"

135"

150"

L = Left/Right hole distance

59” /1500 mm

78.7” /2000 mm

78.7” /2000 mm

98.4” /2500 mm

H = Top/Bottom hole distance

47.5” /1209 mm

54.9” /1395 mm

59.8” /1519 mm

67.17 /1706 mm

Hanging the screen:

1. Two people hold the screen and align it first with the bottom bracket. The bracket lip must be inserted in the
frame’s channel per example below.

2. Then pull up the screen on the top bracket and adjust the screen left to right as needed.

N

Lif n
o
4
|
0 | |

Frame installed on

top bracket

Do not fasten the

screws on the

bottom bracket to

allow screen to

[

move up and

l
[
\
l
[
\
l
[
\

J
1
\
J
1
\
J
1
\

|
|
|
|
|
I
[
|
|
I

Frame installed on
bottom bracket

«—

L T 1
[ T 1
L T 1
[ T 1
[ T 1
[ T 1
[ [ 1
L T 1
L [ 1

E_é

I t
[ \
I [
[ \
[ [
[ \
[ [
[ [
I I
[ \

For an Elite Screens contact and technical support in your area,
please visit www.elitescreens.com

Rev.042222DT (DS0189)

www.elitescreens.com

10



http://www.elitescreens.com/
file:///C:/Users/jabre/AppData/Local/Microsoft/Windows/INetCache/Content.Outlook/JS3SCD1L/www.elitescreens.com

AEON CINEGREY 3D°® AT

AMBIENT/CEILING LIGHT REJECTING ACOUSTICALLY TRANSPARENT SCREEN
ELITE SCREENS

ELITE SCREENES

. ' | *ﬁ*‘ Dot
A T

Elite Screens’ Aeon CineGrey 3D® AT is a fixed frame ambient and ceiling light rejecting (ALR/CLR®
ed to permit acoustic transparency for use with in-wall speakers.

The thin frame design maximizes the viewing area into a smaller footprint which is more appealing in appearance and in accommodating

) projection screen that is perforat-

room décor. The CineGrey 3D® AT is ISF Certified for accurate color reproduction, contrast and dynamic range to create a bright, crisp,
and clear image

Screen Material Design &Installation

» Ceiling and Ambient Light Rejecting (ALR/CLR®) eliminates up ¢
to 65% washout from ambient light

» High Contrast material enhances color saturation and black .
levels for greater shadow detail flat surface

+ Directional Reflectivity angular reflective orientation brings Lightweight aluminum split-frame design reduces shipping cost
image clarity into the viewer’s line of sight with greater portability

» Acoustically Transparent Perforated to allow in-wall speakers to < Spring and grommet attachments easily attach the screen
sound through the screen material with perfect surface tension

Black backing eliminates light penetration for greater picture * Ultra-thin black aluminum bezel protects and formats the

clarity projection surface

ISF Certified for accurate color reproduction, color contrast, and < Sliding wall mount kit is included for adjustable alignment

black-white dynamic range. Optional backlight LED kit available — Sold separately

Sleek EDGE FREE® design maximizes viewing area into a
smaller footprint

Material stretches over internal framework for a tight-tensioned

* Flame resistant: Complies with NFPA 701 and ASTME84 » 2-Year / 3-Year ENR-G Manufacturer's Warranty by Elite
standards Screens, an 1SO9001 manufacturer since 2004
CineGrey 3D® AT Specs
7 R Gain 1.2
Mciiretacwzena o 0 o0 & s 8 88 E Ambient Light Rejection 65%
i aaaenasee Half-Gain 45Degress
L R e Acoustic Perf.Size 0.7mmat 4 mmintervals

@ © o o o o o o o o o o o o o o o o s o o

Openness 3%
Minimum Throw 1.5ximage width
Minimum Viewing Distance 1.7ximage width
ProjectionType Front
Projector Type Compatibility StandardThrow

© © o o o o o o o o o o o o o o o o o e

cineGReY 3D AT B

ISF Certified for Accurate Color Points,
Dynamic Range, and Color Temperature

info@elitescreens.com www.elitescreens.com

562.483.8198




A B C D E F G H I J K L M N 0)

Line drawing and dimension table of Aeon CineGrey 4D AT Series V20220222DT

1
2 Unit: mm Packing / Dimension
Screen Aspect frame width width depth Overall height rtbar NW. GW. L w H
3 Ratio width (A1) (A2) (A3) frame (B1) length (KGS) (KGS) (mm) (mm) (mm)
4 |AR8OH-ATD4 g
S [AR9OH-ATD4 90 169 | 2013 1993 10 28 1142 1122 962
© |AR100H-ATD4 100 16:9 2235 2215 10 28 1266 1246 1086
/ [AR110H-ATD4 110 16:9 | 2456 | 2436 10 28 1391 1371 1211 | 1384 | 1692 | 1610 300 170
8 |AR120H-ATD4 120 16:9 2678 2658 10 28 1515 1495 1335
J [AR125H-ATD4 125 169 | 2788 | 2768 10 28 1578 1558 | 1398 | 16,48 | 20,00 | 1820 295 180
1U |AR135H-ATD4 135 16:9 3010 2990 10 28 1702 1682 1522 16,02 20,36 1925 380 170
11 JAR145H-ATD4 145 16:9 | 3231 | 3211 10 28 1827 1807 | 1647
1Z |AR150H-ATD4
Unit: inch Packing / Dimension
width width depth Overall height rtbar NW. GW. L A" H
(A1) (A2) (A3) frame (B1) length (LBS) (LBS) (inch) (inch) (inch)
AR80OH-ATD4 ;
16 [AR90H-ATD4 90 16:9 79,3 78,5 0,4 1,1 45,0 44,2 37,9
1/ |AR100H-ATD4 100 | 169 | 880 | 872 0,4 11 499 | 491 | 428
18 |AR110H-ATD4 110 16:9 96,7 95,9 0,4 1,1 54,8 54,0 47,7 13051 | 3730 | 63,39 | 11,81 | 6,69
19 |AR120H-ATD4 120 169 | 1054 | 104,6 0,4 11 59,7 58,9 52,6
2V [AR125H-ATD4 125 16:9 | 109,8 | 109,0 0,4 1,1 62,1 61,3 550 | 36,33 | 44,09 | 71,65 | 11,61 | 7,09
<21 IAR135H-ATD4 135 16:9 | 1185 | 117,7 0,4 11 67,0 66,2 59,9 13532 | 4489 | 7579 | 1496 | 6,69
Z4Z [AR145H-ATD4 145 16:9 | 127,2 | 1264 0,4 1,1 71,9 71,1 64,8
43 |AR150H-ATD4 150 1619 | 1316 | 1308 0,4 11 74,4 73,6 673 13990 | 50,22 | 8307 | 1496 | 685
24 |Note : Data Error be +1"
25
26
27
28
29
30
31
32
33
34




35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60

K N Q
19.3
@ il
—————————— \
“ g
d 2
9 «
g
10.5 i
;‘
&
__",___/;‘fs




